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QUESTION 1

You have a Windows Service running in the context of an account that acts as a non-privileged user on the local
computer. The account presents anonymous credentials to any remote server. What is the security context of the
Windows Service?

A. LocalSystem

B. User

C. NetworkService

D. LocalService

Correct Answer: B

QUESTION 2

You have a table named ITEMS with the following fields:

ID (integer, primary key. auto generated)

Description (text)

Completed (Boolean)

You need to insert the following data in the table:

"Cheese", False

Which statement should you use?

A.

INSERT INTO ITEMS (ID, Description, Completed) VALUES (1, \\'Cheese\\', 0)
B.

INSERT INTO ITEMS (Description, Completed) VALUES (\\'Cheese\\', 1)

C.

INSERT INTO ITEMS (10, Description, Completed) VALUES (NEWID(), \\'Cheese\\', 6)
D.

INSERT INTO ITEMS (Description, Completed) VALUES (\\'Cheese\\', 6)

Correct Answer: A
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QUESTION 3

What are the three basic states that a Windows service can be in? (Choose three.)
A. running

B. starting

C. halted

D. stopped

E. paused

Correct Answer: BCE

QUESTION 4

What are two methods that can be used to evaluate the condition of a loop at the start of each iteration? (Each correct
answer presents a complete solution. Choose two. )

Al lf

B. Do. . . While

C. For

D. While

Correct Answer: CD

For and While constructs check at the start of each iteration.

QUESTION 5
This question requires that you evaluate the underlined text to determine if it is correct.

Convening an object to a more general type is called upcasting. Select the correct answer if the underlined text does not
make the statement correct. Select "No change is needed\\'\\' if the underlined text makes the statement correct.

A. No change is needed
B. downcasting

C. interfacing

D. flexing

Correct Answer: A
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